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Points to Ponder
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The NIWN says that 2''N NXIWIN DY NNODNNI DIINN, what is this teaching us? She is an
NINY which we already learnt previously is 1ION?

The N1wN says that a lady who converted along with her 2 sons and one her sons died
childless there is no Mitzva of NX'JNI DI2'. This is due to the fact that DI2' only applies
to 2 brothers who have the same father. Since the reason |'T in the N1wN is not
dependent on the mother why is the NIWN mentioning the fact that she converted?
This N29N is true for any 2 DA regardless of whether the mother converted?

Further to the above, "N says that they have no paternal lineage because the Torah
considered them like NNN2 YT, which seems to be a sufficient standalone reason for
why they have no DIN'. However ‘121 N9 [1'TW I'2X N2 DT "W gives a different
explanation, which is that a D'221> NT21V is N1TN. Why wasn't the original reason in the
nwn used?

The NNA says that according to some, 2PY' 12 KNN 21 argued even if the 2 brothers
have the same mother because 'nT 7212w |OPD 1"ANIW 1A, Doesn't everyone agree
that 'nT 7911w |OPD 1MANIYW 1A?

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com

2T PNX' DUN 0 Y 2 2pY' 200 NI faxatyy

X7 INAW NN 2 K97 1ax 20 1YY



mailto:Ygrunhaus@gmail.com

